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No. of Questions : 100"

we=l B wEar - 100
Time : 2% Hours | [ Full Marks : 300
a5y ;. 21: gUE | [ goitE: 300
Note: (1) This gquestion booklet contains 100 (hundred) questions in all (30 in

(2)

Section — A and 70 in Section ~ B). Attempt as many questions as you can.
Fach question carries 3 (three) marks. One mark will be deducted for each
inncorrect answeer. Zero mark will be awarded for each una TTl‘l‘l‘LpiL‘d

auestion,

53 wEi-yfiiet 4 @e 100 (W) 999 € (WU — & ¥ 30 9 @vs — d 7 70|
FReRE T B FA BE @ U D gEE v 3 (@) 5 @ 8

yeE AT IR B [ UF AP FIeT AR T ST Wi @l U@

I B |

I[f more than one alternative answers seem to be approximate to the

correct answer, choose the closest one.

fe wEfte ddfous ST Wel OR B FAde wdd 8 @ Fecds el 9w
T |

(3) P T0
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s I

. NERewmemgy

g — &t

Who plays most important role in the growth of a student ?

(1) Principal (2) Guardian

{3) School manager (4) Teacher

v el & e d o e Aewayel e BT € 7
(1) wer=ramd (2) TS

(3) Taemmery yaws 4) s

Teaching aptitude means :
(1) devotion towards teaching work

(2) The desire to become a teacher
(3) The requisite professional abilities to do the job of a teacher

(4) None of the above

fareqor arfiermer @ &g 2

(1) R 31 & ufd A

(2) UE fherd g9 B 3Tl

(3) va ferm @ B AR bl Hdsdd Adadi s
(4) ST H ¥ I T

An effective teacher is he who :

(1) has control over the class.

(2) can deliver more informalion in limited period.
(3) inspires students how to learn.

(4) carefully checks the home assignment.

UEH g AeHgS 98 § W

(1) e uv Fra=er vEar g

(2) w9 F9a ¥ s I % F@dl ¢

(3) faenfaral & &9 B G 5as forv ofa wwar &
(4) T8 B B \iawryde wigdr €|

(4)



18U/92/29(Set-1)

4. Achild froma disorganized home will experience the greatest difficulty with::

(1) Well structured lessons (2) Independent study
(3) Programmed instruction (4) Short answer tests
U srnfed TRaR @1 qwen waw sfide wfead arpra B

(1) Yerafled el @ (2) TerimaTgEE ST A
(3) afmiag ey # (4) THITHIG qderor #

5. The main purpose of teaching is :

(1} development of reasoning power  (2) development of thinking power

(3) Both (1) and (2} (4) giving information only
foeror @7 YA el
(1) arfds ofd &1 AT & (2) R ofa &1 faera s
(3) F (1) &R Q) (4) B YA &

6. In ateacher dominated classroom, students usually become :
(1) Active learners {2) Passive learners
(3) Competent learners (4) Self dependant learners
T UE Bfegd /T e ¥, faenedt unn a9 ww #
(1) wibg HerHeT (2) Fisra sfmsal
(3) =& el (4) smenfie arfomw

7. An effective method of learning a language is :
(1) Reading
(2) Listening
(3) Writing
(4) Reading, Listening, Writing and Speaking
T WiEs @) v gareEe fafe &
(1) 9g=
(2) gTT
(3) fergm
(4) T, e, foREr s dre

(5) P.T.O.
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8. Values are not taught but caught, then how to inculeate values amony future
citizens ?
(1) Through teaching
(2) Through guidance and counselling
(3) Through strict discipline
{4 By following values
el w! Ry w8t gies T (S ) @ amiRel § el @ B by
fora o7 W @ 2
(1) fneror g
(2) deE iR R g
(3) FER IFIAHA g

(4) HeAl & HUIET BV

9. Insetting a question paper you will pay more allention on :
(1) Content
(2} Distribution of questions
{3} Construclion of questions
{4} Duration of question paper
T WIS &1 B gNd wHg ang e 9
(1) Az oy w
(2) WAt @ faaee o3
(3) yzEi & famhr gu
(4) weTE B aEf W

10.  Effective teacher is he/she
(1} Who has control over the class
(2} Who can deliver more information in limiled period
(3) Who inspires students 'how to learn'

(4) Who carefully checks the home assignment

(6)
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(@ wirdt swas g8 & -

(1) Feres wen ov frezm g 2|

(2) o WiFer e § afdre |aeT € THar ¥

(3) o fAenforat @1 &9 W arr swa (0 9Ra Fwvar ¢
(4} G TR B WaaEga® e & |

1f yellow is called blue, blue is called red, red is called pink, pink is called black
and black is called orange, then what is the colour of bloed ?

(1} vellow (2) pink

(3) blue (4) orange

gﬂ&lﬁﬂwrwﬂmﬁ%ﬂwm B AN e o & |l vd w O @O
&7

(1) e (2) e
(3) Al (4) =W

In a certam code language ‘CA 1" is written as 'DDY'. How will ‘BIG be written

in that code ?
(1) CML (2) CIL (3) CLL (4) CNL

v Fiftge difae A A CAT &1 'DDY forar amr & | 39 wiafas 4 (@)
A BIG @1 $9 farar = 7

(1) CML {2y CJL (3) CLL (4) CNL

Clock : Time : : Thermometer : 7

(1) Heat (2) Radiation
(3) Energy (4) Temperature
g AH ;gAY 7

(1) S (2) fafpwo

(3) Tt (4) @I

(7) i 0
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14.

15.

16.

17.

G Bullet s Chimney ;2

(1) Ground (2) Smoke
(3} House (4) Roof
T (g ¢ goie o Rl ;2

(1) @i (2) gail
(3) ™ {4y T

Find the value of question marks (7)

AR . 8 PSR P W 6 R

(1) P (2) PQ
{(3) RR (4) SR
geAdras (sl & A 9asy -

Co 2B X, L Vil T, 277

(1) OP (2) PQ
(3) RR (4) SR

Choose the correct alternative :

1,4,9, 16,25, (oevewss))

(1) 35 (2) 36 (3) 48 (1) 4y
1,4,9,16,25, (o)

(1) 35 (2) 36 (3) 48 4) 49

Aruna ranks twelfth in a class of fortvsix. What will be her rank from the 1ast 2
(1) 23 (2) M {3) 35 (4} 37

foraref frenfofl ot wen 3 seom &1 &9 12 21 Afam 9 Swa T e 2 o

(1) 23 (2) 34 (3) 35 (4) 37

(8)
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If Raman is ta the South of Shyam and Mohan is Lo the Fast of Shvam, thenn
which direction is Raman with-respect to Mohan ? -

(1) North-Fast (2) North-West  {3) South-Fast (4} South-West
=M T T TR W R ol WEd W & Q@@ B a1 W e el o i
AR

(1) STyl (2) waz-giFas (3) sfEmr-gd (1) wido-ufdEs

There are six persons A, B, C, D, E and F. Cis the sister of F. B is the brother of
F's husband. [ is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group. Then answer question 19 and 20

j.-ﬁ-?rf?}‘ﬁA,B_,Li,D,EGﬁ?F%m,Pﬂﬁﬁﬁ%ﬁ,ﬁhqﬁmnvﬁ%@, A @

Rrar & &k F &1 grer & wogg 3 a7 fem, s o ok U@ A B 07 w9 19 Td 20
S €

Wha s the mother ?

(y A 2) B (3) D 4 E
A FAE ?
(1) A 7 3) D (3 E

Wha ts E's husband ?

(1) B 2y (31 A () F
E @ ufd &9 § 7
(1] B (2) C (31 A (4) F

In which year Mahamana Malaviya was awarded Bharat Ratna ?

(1) 2014 (2) 2015 (3) 2016 (4) 2017
ST ATerar &1 fha ad wRa < fear wan v
(1) 2014 (2) 2015 (3) 2016 (4) 2017

Whao is related to 125th vear of Chicago Addresses ?

(1) Swami Dayanand {2) Swami Vivekanand
(3) Swami Yoganand (4) Swami Ramtirth
St Tl @ 1259 af ¥ @i wafea 2 7

(1) @ g4 : (2) i famrT=

(3) @ AT (4) T el

(9) PTO.
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23.  Operation Indradhanush is related to ;
(1) Immunization (2) LPG
(3] Poverty elimination (4) Banking
ffRerT geaery AR dafog & 7
(1) EwTay (2) Tele Yo il
(3) TR g (4) dla

24.  Which project is related to computer literacy ?
(1) CAl (2) CLASS

(3) WINDOW (4) CPU

AT GO O W W wEeT g 7

(1) HHoTeamdo (2) HoUHoUoTHOTES
(3) fams: () ¥odtozo

25.  Which is recently launched online learning portal by MHRD in India ?

(1) SWAYAM (2) ABHIYAN

(3} VARSHA (1) MOOCS

HINE T (reydediRole §YT §TH ¥ 8 F1A- sitere sl e e fhar oo
.

(1) T (2} @

(3) @ (4) qaw

26.  When NCTE was established as a statutory body in India ?
(1) 1992 (2) 1993 (3) 1944 (3) 1993
NE H U6 GaE e @ e # oodlledtedo @t e @ 5E 7
(1) 1992 (2) 1993 (3) 1994 (4} 1995
(10)
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Which one of the following bodies is responsible for assessment  and

accreditation of Universities 7

(1) UGC (2) NAAC

(3) MHRD (4) NCERT

ReaReiicial & sibei td Y 2 PIA-01 Per Soem € 7

(1) Fowfodo (2) UHoTeloiilo

(3) THOTHOHROI0 (4) Torflogoamsdie
PMMMNMTT was launched in

(1) December, 2014 (2) February, 2015

(3) January, 2016 (4} July, 2015
HloTHoTHeTHoUHoYHoT 0E 0 B IO R

(1) fEemaw, 2014 (2) wRaw), 2015

(3) W=, 2016 (4) S[amE, 2015

Madan Mohan Malviya University of technology is situated in :

(1) Varanasi (2) Kanpur

(3) Gorakhpur (4) Allahabad

e Are Arerdr drenfie frafemerm ferd ©

(1) = o (2) HTFYE A

(3) TREYR 4 (4) goreEE |

Who was the first Vice-chancellor of Banaras Hindu University ?

(1) Shree P.S. Swamy Iyer (2) Pandit Madan Mohan Malviva
(3) Sir Sunder Lal (4) Dr.Sarvpalli Radhakrishnan
e g RregRienery & woM argdl TRTeR &1 o ?

(1) =t dro Uge @M FTR (2) oftsT HEA AEA €I
(3) H gx A (4) Sfo WdTcell TG

i 1 P:T.0:
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31.

32.

33.

SECTION -B
Qe — 7

IfG, M and R represent the gravitational constant, the carth's mass and carth's

radius respectively, then the escape velocity is given by :

ARG, M R R w99 oo Fadie, gofl @) el 10 godh 2 B wefiia
&, gelri f ® A En

-
(1) d% ) \/w

3y |2EM ) 5 [GM

R VR

Which of the following was unified by Maxwell ?
(1) Electricity and Magnetism {2) Electromagnetism & Gravitation

(3) Electromagnetism & Weak force (4) ljlectricit:.; & Sound

ffafiag 7 @ dmrae grr fe) eTepe e aram ?

) T g (2) emE-gre (d o
(3) fEE-gwwa o 59w g (4) e TF e

The density of a solid of weight W is “d'. if this solid is immersed in ltquid of
density p then the apparent weight of the solid will be :

W SR el U ST w1 ueied d B3R 9 B @) p o a1 79 W g i o
ar S9®! fedred W g

1 W =w| 1—— 2) W' - m 1.4
d ) . p

N
(3) W’:Wi\1+5‘] (4) W=w 1+El

(12)
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35,

36.
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Ihe moment of inertia of a cireular disc of radins R and mass M about an axis

Perpendicular to the disc at the centre is :

R P o3 M defy o v qoer s @ oo ampf 5w Rye & dead

&7 R A g o w o gar &

(1) MR’ 5 2.
(3) % (1) 2 MR?

Which of the following is a non-conservative force ?

(1} Gravitational force (2) Frictional force
(3) Spring force (4) Electrical force
frafafag & - i wieaE 96 8 7

(1) TEearhyvl del (2) Tdw g5

(3 fusr &= (4) faga o=

Elastic behaviour of a solid depends on:

(1} Interatomic forces

(2} Medium surrounding the solid

(3) Temperature of the solid

(4) Surface of the solid

et o @1 aroeR @aer i w R @ g
(1) S GV @ 4 b e 0

(2) S @ TR AR B FEIH W

(3) ©IF @ dIUHA W

(3) BTF @ TOE T

(13)

PT.O.
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I The l~-'tﬁrii--l'-_‘ll'L__':-' ol o Carnot L‘“E,H"LE ‘-'\"E'}Tkir'l}; E.]Ull‘n'\"ﬁﬂl] [tfi'I\‘]L"L‘]'dtUTU T'. '{i]'l'-.{ II: with
Ly > T, s riven by
[ 7, ey @ e 5o il wide oM FY g fefaia uCE
T Fys
15 T, =T,
(1 — (2} A—=
3 I,
1,-T Ty
B == () L2
T, B
38, A source emilling transverse waves is moving away from a stationary diserver
with uniform velocity o If the wavelength of the wave is 1, and i< velocity ¢ is
creater than o then the wavelength measured by the observer will he
. fo S PO ST
(1 r-.=?.,:];'|—l—‘. {2) ;‘L:.hl][l-.——]
I'-u {I .l'II {- f
X 3 i C . ) i PR
(3) 7 =2y t'l - —‘]I! (4) 2 =1, Il e 1
1y i)
FIIR T TG DR el W U Rer veven @ wae ufd o 9 g0 o we 2
afe @ B A ¢, 0 G IRE T g wwded 4, B o e g A fRen
ERIEAS R
| oy T
{1} }.=;.,,|1—‘—I (2) :a.::a.“(n.‘_|
S c/ L, .
¥ .1 Ilf -
. e T C 5 . [
(3) =iy |1-2] (4) .a.:;,ﬂ|h_—l
\ i \ 1
39.  The radiation emitted by a blackbody source gives rise Lo ['n[lﬂ‘nfjng spectrum ;

(1) Continuous spectrum (2) Band spectrum

(3) Line spectrum

(4) Raman spectrum

UF BT EH A geaft fAfewe e geR 1 ween g ¢

(1) Had W
(3) =g WagH

(2) &% weEH

(4) 9 wEen
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Photo electric effect was experimentally verified by :

(1) R.S. Muiliken (21 A.H. Campton

(3) J.]. Thomson (4) R.A. Millikan

oeTe-faege wNTg BT GATETeIE Fee (fated g fear war

(1) 3o ta- qfered (2} To Tdo HTH

(3) To W THET (4} 3o o faferas

Fraunhofer lines are observed in the following :

(1) Hvdrogen spectrum (2) Molecular spectrum

(3) Solar spectrum (4) Atomic spectrum

TETET YT Freerad q 9w Rl € -

(1) SEg= T (2) smorfde wagH

(3) HIeR WA (4) TR A

The colour of light from a light emitting diode depends on :

(1) Atoms of the semiconductor (2) Molecules of the semiconductor
{3) Surface of the semiconductor (4) Band gap of the semiconductor
vy JETad T2 A Ee g &1 I ffefan w R e g

(1) seforad & Tear] (2) aefemers & 99

(3) HeTaTeT® P Als (4) AEATd BT Foll
In relation to Indian industries enterpreneurship is :

(1) Necessary (2) Unnecessary

(3) Burden (4) Wastage of time and monev
ety JEnT & e F geidr &

(1) HTETd (2} AT

(3) ¥R (4) EHa UE 99 B agia)

(15) P.T.O
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a4,

45.

46.

47,

Accm‘ding to Sociological approach L':I"ltL‘l']_‘J]’u_‘l‘lL"HI’hhi}‘.l 15
(1) Process of sensivity (2) Process ol role performance
{3} Process of Economic change (4) Process of habils

aEfaTes SoTEET 6 AN calHdar &

(1) Hrgear & afea (2) wft FupgT @t afder
(3) anfafE ufada & ufsa (4) ameda @t vl

Keratomalacia disease is caused by deficiency of
(1) Vitamin A (2) Vitamin C
(3} Fat -5y Vitamin B
el T W e A & we B &
(1) fuerfi= A (2) fefm C
(3) @ (4) e B

Denlal Florosis diseases 1s caused due to -
(1) 3-5 ppm florine in water (2) 0-12 ppm florine in waler
(3) 0-2 ppm florine in water (4) 1-2 ppm florine in water

S FAIDTEH dENT B BR E

(1) 3-5 riroy wardts ora o (2) (-12 Ty varfts o o
(3) 0-2 drdres wEeE wd | (4) 1-2 OIdUe 95T T

Minimum of which is present in fruits :

(1) Protein (2) Carbohydrates
(3) Vitamins (4} Minerals

WAl YA ST W R Ty o 7

{hH PG| (2) GTIL:‘PEFE 5‘-_{'
(3} fAerf=y (1) firmen
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Which protein is found in rice ?

(1) Argenin (2) Zein

(3} Glutenin (4) Albumin
A H S0 YiE 2 8 2

(1) FTsitr (2) o4

(3) ‘Ejg‘ff\iﬁ (4) Ve

Process of change of unsaturated fats into saturated fat is :

(1) Saponification {2} Hydrogenation
(3) Oxidation (4) Emulsificatir:m_
YA de ARl @ WS I o W gae a1 uibar &
(1) Ta=raeor (2) ETEFTAATHIT
(3) TS (4) wrEEEa
Nylon fabric is made of which process ?

{1) Physical method {2) Chemical method
i3} Mived method (4) Local process
AGeliF & g T b g1 3R R o

(1) wifas fafy (2) wrfye fofe
(3) fafia fafe (4) == Ry

Is a plastic fibre :

(1) Nylon (2) Ravon

(3) Orlon (4) Wool

T WAE Y9 BAE 8 P

(1) e (2) ¥

(3} 3Tl (4) &

(17) P.T.0.
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52. FPO1sto prevent:

(1) Adultration (2) Purity

(3) Wrong weights (4] Wrong labelling
THoYT 0T TIRUIH -

(1) Femee & (2) gaar

(3) TEd A B (4) TTero erEterT @

53.  Which is necessary in colour ?
(1) Balance (2) Harmony
(3 Goal or Aim {(4) Proportion
TN @ W T F HOTE € 7
(1) Ao (2) ST
(3) @& (4) s

54, The number of molecules decomposed on absorption of per photon of UV-Vis

light is called :
(1 ‘_I.r'ie:]d of the reaction (2) quantum vield
{(3) quantum efficiency (4) quantum productivity

el argeie I woTe @ U $IEt @ Imum W ametRa sa @ der A

&E] T B
(1) el & wf (2) T@en wif
(3) =dTUed e (4) FIEH TSl

55. 11 's"is the solubility of CaF,, the solubility product (K} would be expressed

a5
(1) Kp=s 2) Ky=¢ (3) Kop = dst (4) Kop =42
afd ‘s CaF, @ facwen 2 o femar same (Ky) @ e o s

(1) Kyp=¢° (2) Kyp=§ (3) K. =447 (4) K=

(18)
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57.

58.

99.

18U/92/29(Set-1)

An emulsifier functions to

) coagulate a colloidal solution

(2) stabilise a sol

(3} stabilise an emulsion

(4) electrify a colloidal solution
SRRt W TET B

(1) wfemim Rem &) Wi 5= @ fg
() e o veml e @ fow

(2y T L Tamdt e @ o

(4) Fferera oo &) ﬁ!@THH e @ ﬁ;".rq

For one component svetem the phase rule is :

(1) F=3-P (2) F=2-P
(3) F=1-P (4) F=4-P
16 HETH IR T Bl I

(1) F=3-P () F=2-P
(3 F=1-P (4) F=4-P

A+ H, 50, » B (a colourless gas with irritating smell), B + H, SO, + K, Cr, O-
—» green solution, A and B are :

(1) 501,50, (2) CI-, HCl

(3} 57, H.8 4) cor,co,

A + H, SO, - B (¥87% T4 & 9121 U A A4), B + H, SO, + K; Crs Oy —» &0
ez, A T BE

(1) SOi, 80, (2) Cl, HCI

(3) §°7, H,S (4) CO5",CO,

Which of the following is not a nucleophile ?

(1) OH™ (2) CN (3) BF, (4) NH,
e B ve Saeawee T R 7
1) GH (2) CN- (3) Bi, (4) NH,

(19) P.T.O.
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60. Which of the following does not react with ammontcal z‘ig:"‘u'lf]_-,

61.

62.

63.

but decoiourises
bromine water ?

(1) C,H, (2) CyH, () C.l, (4) C,H,

fre & BT UG SRR AgNO, @ wrr affe T B E o L
AT ] MEE T g 7

(1) C.H, (25, (3) Gl (4) GH,

Benzene 1 converted into toluene by
(1) Grignard reagent {2) Perkin reaction
i) Friedel-Craft's reaction (4} Wurlz reaction

defla ) eTgs § uRafd e war &

(1) formare AfRFEE grT (2) ufthar &fEfFa g
(3) WIEF-HIFTH Al g (4) gewr Aafkur g

Which one of the following reagents is used to differentiate chlorobenzene from

benzyl chloride 7

(1) Bryin H.O (2) Alcoholic AgNO,

(3) Br,in CCl, 4) KMnO,

B 3 (g afteds & o aaRiasd @) dofld aelEE W ST bl i T
G

(1) H,OH Br, (2) arewiEa® AeNO,

(3) CCl,# Br, (4) KMn(,

Which of the following has ~O-0- linkage 7

(1) H.S5,0, (2) H,5,0,
(3) H.5,0, (4) 5.0,
Frer W feed O-O-"u B 7

(1) H,5,0, (2) Ha5.0,
(3} H,5,0, (4} H,5.0,

(20)



64.

18U/92/29(Set-1)

Both INi(Ch,P" and [NE{CN}_J} are diamagnetic. The hybridisation of Ni in
these complexes respectively arc :

(1) sp?, sp® (2) s, dsp®
(3) dsp, sp’ (4) dsp?, dsp”
INICT), T T [NHCN), T @it ofd-gaata ¥ | s waet & Ni @7 Goxo H909 &
(1) sp’, sp’ (2) s, dsp’
(3) dsp®, sp® (4) dsp’, dsp’

65. The species in which the central atom uses sp™-hybridised orbitals in its b nding

66.

67.

IS :

(1) CH,; (2) NH, (3) PH, (4) SbH,
R Hi YA # sp - TERT FEPTH B SUUT G F9 ¥ 2w &
(1) CH; (2) NH, (3) PH, (4} SbH,

'Power-House' of cell is -

L1y Nucleus (2} Endoplasmic reticulum
(3) Mitochondria (4) Golgi Complex
PN A Tl s

(1) T (2) grerenfms-Yfeqmen
(3) AgeEIga (4) Tl P

Which is an anneiid ?

(1) Ant (2) Crab
(3) Nereis (4] Oclopus
rferfad # ufierer @1 @ € -

(1) =i (2) dengl
(3) FARw (4) sffgerra

(21) P.T.O.
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B8. Which phylum has highest number of spuecies ?

69.

70.

71.

(1) Protozoa

(3} Arthropoda

(2)
(4)

farg o N wEW waTer gy ol wRl E 7

(1) UlEraan

(2y affetaian

Amoebic dysentery is caused by :

(1} Plasmoditm vivax

(3) Amoeba protets

i) TR Ed g g 2 7
(1) SHfeys arsamy

(3) arftar mf2va

Pearl is produced by :
(1} Oyster

(3) Doris

o) gear &

(1) siees |

(3) ST

']"1'1:?11-!7'1.‘-'.11' is the common name of :

(1) Syngnatis

(3 Amabas

e wwEr W GMEg gafeE T B

(1) Ryierd
(3) TrErg

(2)
(4)

(2)
(4)

(2)
(4)

Porifera

Mollusca

mift

Hicteb)

Entanoehi usfolytica
Taenia solium

g veHIar foveiiefcmy

e wifeiaa

Nantilus

Chiton

?JGJEW H
FrgerT 4

Hippocanipis

Remaora

R



2.

73.

74.

75.

18U/92/29(Set-1)

'Nmtfny‘ refers to -

(1) Retention of rudimentary organs

(2) Retention of larval characters in adults
(3 Metamorphosis

(4} Moulting

fmat &1 el @

(1} #fer@ 3 @ sraume 9

(2) Tuwnl # wal @ T @& amewer |

(3) ¥R

(4) TG FEes 9

Heart in crocodiles is :

(1) Incompletely 4-chambered (2) Completely 4-chambered
(3) 3-chambered (4) 2-chambered

TS @ oged el ¥ 7

(1) 3yt 4 gors (2) Iof 4 g

(3) 3 WP (4) 2 TS

Which of the following is the characteristic of bird's eye ?

{1) Lens (2) Retina (3) Pecten (4) Ins
P § oF-6 ot & o & faelvar & 7

(1) =% (2) ¥ (3) T (4} smsfa
The toothless gap due to the absence of canines is known as :

(1) Epiglottis (2) Glottis

(3) Diastemma (4) Cheek

TEH g4 B AuRUfy B IR B are s @ @El ey

(1) wdrenfes (2) vanfew

(3) BIFCHT (4) FIA

(23) P.T.O.
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76.

77.

78.

7%

Fertilization in mammals occurs in the

(1) Vagina (2) Uterus

(31 Fallopian tubes {(4) Ovary

e Aves e

(1) @t A (2) fery ¥

(3) Tt (4) Femm ¥

In which of the following National Parks Indian rhino is conserved ?
(1) Corbett National Park (2) Kaziranga National Park
(3) Manas Santuary (4) Kaimur Santuary
e WY 5w gy g F wetde fea T @ 7

(1) @ie T TS (2) TR AL a5

(3) A T (1) TIFHRT R

Haploid endosperm is found in:

(1) Pteridophytes (2) Gymnosperms
(3} Monocots (4) Dicots

sppfra oAt dE W €

(1) eRemwEed ® (2) sFTgadra A

(3) UHdraAr o (4) fadmmn ¥

Phveobiliproteins are present in members ol

(1) Chlorophvta (2) Cyanaphyta
13} Phaeophyta (4) Dinophyta

TR s wawt § wm Wl 8

(1) wRIHEe (2) wEAwEe

(3) foraprgeT (4) STgAMET

(24)



80.

81.

82.

83.

18U/92/29(5et-1)

Which of the following fruiting bodies in Ascomycotina is lacking an opening ?

(1} Hysterothecium (2) Apothecium
(3) Perithecium (4) Cleistothecium
TEFTISIEAT § (777 3 @ Bh-am wermwrs g § 78 gy 2 7
(1) fevedeiifiam (2) oy

(3) wNrfREm (4) Fererfim

A cvanobacterium (blue-green alga) forms symbiosis with a plant which is used
as biofertilizer, the plant is :

(1) Hydrilla {2} Salvinia

(3) Azolla (4) Nelumbo

argnaeife (fren-elRa dare) O @ wu weoles s @ Rraer sume O
TEH B W F BAT G, R 2

(1) ergfRer (2) e

(3) urte (4) rerq)

Peduncle is a stalk of :

(1) Leaf (2) Flower
i3) Inflorescence (4) Fruit
U9 (& 3T B

(1) gat &1 (2) el &I
(3) g7 @ (4) ®el

In Pteridophytes, stele without pith is known as :

() Dictyostele (2) Siphonostele

(3) Solenostele (4) Protostele
éﬁﬂwﬂﬁ.?ﬂaﬁ‘ﬁﬁwmlmﬁz

(1) fEFdlem<a & vy § (2) ARTHRE & wY F
(3) WA & WY # (4) WEwEHd ® w0 o

(25) PiTEy
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84,

85.

86.

Archegonia are found in :

(1) Fungiand Bryophytes

{2) Bryophytes and Pteridophytes

{3) Bryaphyles, Pteridophytes and Gymnosperms
{4) Pteridophytes, Gymnosperms and Angiosperms
anfIfRR o S g

(1) Ta® au] FTamEed |

Q) sriwEed aur cheEged ¥

(3) @rRiTATged, CxiEIpTSes TGS A

(4) 2NSHEET, G A SICLEITIR

New name of family graminae is
(1) Asteraceac (2) Apocvnaceae
(3) Lamiaceae (4} Poaceae

Fel W @l qU7 A 8

(1) wdret (2) yomRERR
(3) wfEEd (4) urf
Type of Coffee fruit is known as ;

(1) Berry (2) Pome

(3) Cypsella (4) Nut

TR Gl & WPR AT 6 8
(1) &4 (2)
(3) Rrden (1) =e

(26)
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88.

89,

80.

18U/92/29(Set-1)

Oxygen evolves in plant photosynthesis during :
(1) Photosvstem 1

(2) Photosystern I

(3) Both Photosystern | and Photosystem 1T

(4) Photorespiration

Hidlor O gy Heemor ¥ et g ¢
(1) wTer 957 |

(2) W ugha 11

(3} weerer ugfd 1 ud ware ugfa 11 g1

(4) debTel 2dHEA

Plants are categorised on the basis of day length required for flowering, as per
this Sugarcaneis a

(1) Long day plant (2) Short day plant

(3} Day neutral plant (4) Night neutral plant

T B QT B Sedw fRF W wEd B MR W affed R oqw & g
HFER T E

(1y =wan fas dhen (2) wier fa=r dien
(3) 2= gewr dkn (1) ¥Ia deve gy

Nullisomic aneuploids are represented by :
T UToEs @ Rl e

(1) 2n-1 (2} 2n-1-1 {3) 2n-2 (4) 2n+ 2

The operalor &é& is which type of operator ?

(1) Assignment  (2) Increment (3) Logical (4) Relational
ey & Frefaffa i o g uer =1 8 2
(1) srrgTHe (2) gTriC (3) e o) SErE

27 P.T.O.
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91.  What will be the output of following source code ?
vold main{)

1

it a=13,b=25,0=34;

c=a+b;
b=c-b;
a=C—b;

printf{""ed %d %d",ab,c);

I

(1} 152843 {2) 281543 (3) 152834 (4) 281534
Sfailg wW @1 ATeeye @ur B Y

void maing)

!
i

int a=15b=28,c=34;

c=a+ b
b=c -y
d=0 - b;

printf("%d %ed %d”ab,c);
!

(1) 1532843 (2) 281543 (3! 152834 {4) 281534

92. Karnaugh map (K-map) technique provides a systematic method for

simplifving :

(1) Multiplexers (2} Logic gates

{3} Beolean expressions (4) DeMultiplexer

K- e fretelied # @ 69 e @ T TG i A 7
(1) weeee 2y il e

(3) gefias veEE (4} El-Aedisgan

(28)
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9. If 4 logic gates has four puts, then total number of possible input

94,

95.

combinations s -

(1) 4 (2} § (3) 32 4 16
A% v A e AR Ty ¥ @ W gge WA B g we g e v
(1) (2) 8 (3) 32 (4) 14

We have to build a memory capacity of 2048 bytes using 126x8 RAM chips.
Specify the size of deceder to select a RAM chip in memory :

(3) 3=8 (2) 4x 16
f3) 2 d {4) 5x32

5 128 x 8§ RAM U @1 Wil avd §U Us 2048 a15T ama 91 98 g £
AR A RAM [ w1 599 wed @ 2y ey @ wigw @ s 2

() 2x4 (4) 5x32

Which of the tollowing is a main memory ?

(1) Secondary memory (2) Auxiliary memory
(3) Cache memory (4) Virtual memory
W 0 B wia e B BEET 22

(1) &g (2) wews W

(3) F9r AN (4) Tdorr HERG
Which memory device is generallv made of semi-conductors ?
(1) RAM (2) Hard-disk

(3) Floppy disk (4) CD disk
Fye=fofia & w9 o wm sdwee @ B & ord & 2
(1) ¥4 (2) &8 v

(3) Felrdt fows (4) ¥ 9 o

(29 ) P.T.O.
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97.

98.

99,

100.

Using Lagrange’s formuia the value of x, when y = 13.5 will be

(1) 98.14 (2) Y7.66
(3) 96.99 4) 96.43
SIS S T WANT B g X' @1 A Pl Aty - 1359
(1) 98.14 (2) 97.60
(3} 96.94 (1) Y642

The minimum and maximum value of 7 cos 0 + 24 sin 0 will be :

(1) ~5and +5 (2) —10and + 10

(3) —15and + 15 (4) —25and + 25

7 cos 0 + 24 sin 0 1 <A T sHfewaw 79 FefeRad & & aa e 7
(1) =571+ 5 : (2) = 10797+ 10

(3) - 15341+ 15 (4) =25 097 + 25

Which of the following formula is most accurale for numerical integration ?

(1) Simpson’s rule (2) Trapezoidal rule

(3] Weddle's formula (1) Gauss's Quadrature tormula
Prafor 3§ @ @i-e G TR A0d WRiRe 8 Fpiea geiee @ oy
(1) Fames o= (2) SoRATgSE A

(3) deF 4 {4) i aaigaw g

[f x and vy be two real variables such that x = 0 and xv = L, then minimum valu
of x + v will be ;

(1) 1/2 2) 1 (3) 2 (4) 3

Ay ol y @) Rae Rgea & x > D@ xy = 1, 09 x + v B AAE 7E R
LI

(1 1/2 (2) 1 {3) 2 (8%

(30)
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10.

11.
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aaferal & ferg e
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3

= b "

G ulafte 7 wie A TRada e FOerE BN TG @ldl aif@d sedge Ha g e
TR T G AT ST

yeA-gftadr A AelE AET & wre EEOUE owr M o # | gEie el @ SEETmE S F e
) gevoy & gEfa ule @ ud @ W g @ S & I G Y Taa
Frell & ST Te-age U W Tl B 8|

(O UE & SR @ I @9d (s & g9 B MR # | TF 4 A% T Wl R b U
O UF g6 B I AR OF 78 SR R HAFA A

e & 5 UE v w@rd I Sifda AT qucl A6l W e 7 afe any el osT @ oo
a8l A= e & A weatug ufig @ W T o i gd) @1 drel Bie d 4§ Gl U g
o T2 i |
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¥ | wafs aparfEt & we-gRaer R dfe THo HRo FTR-GHAH ) BIE T WU & TH
&1 AT B

apapefl @Y ey AN B2 @ usd WEr waa W aEy A @l sEsia el e
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